B4 P 5- H

~ K5

AR/ P g ;{;J-_ﬁ KB AL
PG E B . g | SOF 200 AxcE
PR A Sl N
AN LA I~ fent g4
- R & 1-2 ~ — R} ek
Ry k3
B2z Al s Frerp e
2-1-3 &5 A AP AR PR & F v #-E-Al
S S PR E RS HESY e
I%Pl%%$u$ﬂ1wﬁag&io A HEARPEY R T
1-11-2 2 & 37 kit A 4 o %%&ﬁﬁ: Errp ¥ AR
P oo
V-l G TR B L (o A3 I = & AR %
T8 V-2 il g e e ks #-E-A3
i | F B[ EREND F LR AT RE
o |E alV-3 R ERFAT AR EAE > 2o | K| Gy iﬁgé*ﬁ“ﬁéﬁ
. o - o g LR
3 F oa-V-3 R F R ATEOT R W | EOEEREND A S
£ b 2 | * o
s nll-1 - o p fesnie gt popse | (Ll gagse i
PISE B 2 4 |wECl
n-111-1 ®jzdcenb e imchi= @845 > T | % -E%&ﬁ%ﬁ%g%wuaﬁﬂ
M&&i**i e A OIETR R R o
i B2 f 5 T 2 4ial % %
N-4-1 - R p chile: @B =g T2 F - #-E-B2
AR LS SEEEY LS Al S 2R WA PR
; 4 T30 3 1200, 22 T21 § 300, chseipi o i o
% N-5b-1 tigixeim sl viz 2 T+ 400 o
L R e TR E ALV N LT
{ * licfr { ] i -
[F% x5 ]
BrmEag | PR AN LR
B EREEE D
JE E12 89 1340 30 vk b 4
BRUER/PR | [Fapn
b 7 S-11-1 ﬁfﬂ,,, ST L2 KA T
*H Rk .a—%ﬁ@:?%{#‘[?_]i%@l’:ﬁ—ﬁi
BT I ¢ ANV IENFi T332 T4 o




2- a+2% ~]-pad
https://play.kahoot.it/v2/?quizld=f82eeeb6-e8ab-4963-a4d2-7e3f2809b4a3

https://play.kahoot.it/v2/?quizld=41e35035-3f26-4aa3-82b2-c4919943bc22

L S i A
FRE APP P 3

gy P

ﬁ;%ﬁaﬂ’aﬁ—* P B R R (A ol i Rl o R
Al B2k g )
R SR SR LR SR

LSS St

o
o
-
'3‘
i
e
1%
K2

KRS R

KEFEHPNFEF e P FEE R

S R Y

HPER
KEFERTLFFFVE % T o
FEARFHEEFA VT HLH -

C RS (RARE PR AR oA ERRE o)
ATRFPF: LR JAAPRF I, F A RS e &

whdd R LLFRT Ko
PlAed s ~ ek A B A5 5

kg > APaskrd OF » 7 F- @t ol APRgY -7

A g WA FI TR TRLCE A G PE TR

BREPRFB- ) A REE-F BT FE FFFE TR AN
BRARFR e AP AL - Bim iy o BETE

2. T,'T‘ﬁrr'jﬁ— e ] oo f’é\i”ﬁ}g‘fﬁ‘ 0¢=g ?

S 241280
6. G- 1L R BRA D T SRR AT RS R
{u,u,LU'ﬁu_;u,&}E_Tj\%ﬁ.,ﬁ—Lﬂﬂﬂ—ﬁ/g EET RE

o

>_t.

¥
T, FfFadL @B rot B3 Ty ~TERYD T2 7 L& -

N3

CERBE (B0 RFIE IR REFAEEY RKE CRY F) 5

I REFHFBITFTF T - EF 20 o b B s ded] Y e
@iz Tep-@ a3 oo "L+ Frypg+
FoRtRERFRE Y

2. 10 B— ¥ ~100 - ¥ ~ 1000 B - v w522 200 % ~ 100 2% ~
1000 =% =10 #¢ ~ 100 *% ~ 1000 % » =] F_ S =8 ? 14 =#c~ 15 =%~ 16
= o

3. RFEHL2F d Te-F > kE TR FFABO0O> g
AR AR RBEPRFBABO Flet L5 12 B0, KEF
T2 E FREAB0OREH - B0, 54 500130000005000 PR =)

1y



https://play.kahoot.it/v2/?quizId=f82eeeb6-e8ab-4963-a4d2-7e3f2809b4a3
https://play.kahoot.it/v2/?quizId=41e35035-3f26-4aa3-82b2-c4919943bc22

;\\

E AL iiﬁ’ 3§7§340

o1
\_

Zi %’f#-""'““ #t?rélﬁ’*
ARFFLERES - L T4 > HEF3lEE 4 4oiw @ * keynote i
ik m’{ WOEBL P+ F 0 22 2By RBHEILEFFES
Rt RERFRE DV I“)
A RE2A -t eT AEFHLY - B(E£H 100~
#lmmm’fwﬁé’%mi—%#’#£%9ﬁw’+@4p
4—:—%&*{;49;;5; 0> R #T9RMPEAG =0 7 peanizid »
G -% SRR SIS ENE. SIS c S ) 1 N
M) R o BRI N ehA B EE BUR e 0 F R R Y R
» F R BP0 f o ek iE s U] o
= =& 4 £ T FH QR code £ » Kahoot i& 7 ¥

\

RER o IR S

%ﬁ?ﬁ’%i%%@iﬁ@&ﬁﬁo
=~ 2 % ( fg’}a‘i:u ~ #&F‘: ~ 3&]:%? ~ ';‘Z Tln i%‘%l:‘:...a;:_)
l. R 2 HE PR

(Dt 1:,5“%4(? °
(D) e 12 AL

20

"
3
“H
!

(DEEEHRY > - R L F 8 E » ¥ it f oo
A G AFRIYER 6 TF -
~F I EER/E G~
@ - REEFT kA VTR KEFEP
55 TH | @F- T4
@intiFF B Kz




